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Instructions for Candidates

Write your Roll No. on the top immediately on receipt of this question paper.
Answer all questions.
All questions carry equal marks.

Use of simple calculator is allowed.

Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.
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1. Elaborate on the significance of statistical methods in Geography.
OR

Discuss about the various scales of measurement used in geographical
studies.
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2. The following table shows the amount spend on text books in each semester in
rupees by the students.

(i) Prepare a frequency distribution table for the given data.

(i) Find out the percentages of students spending more than Rs. 500 on text

2

AT

books.

158 164 179 | 374 169 713 652 555 723 401
176 176 274 | 238 632 541 732 755 | 723 508
189 334 256 | 369 566 315 473 623 | 645 749
346 277 391 455 563 742 | 652 542 | 386 322
285 | 371 247 | 325 535 793 395 665 365 528
274 | 256 262 | 463 543 422 465 523 | 399 355

OR

A survey of religious composition of population of two villages was conducted.
Village A has a population of 680 persons and village B has a population of 470
people. In village A, 180 people were Muslims, 140 were Christians, 80 were in
others and the rest were Hindus. In village A, Christians males were 75, Muslim
females were 65, Hindu males were 135 and others males were 65. In village B,
among Hindus, 50 were males out of 120 of total, Christian females were 30 out
of a total of 90, Muslim females were 120 of the total of 180. The others males

in village B were 50. Present the above information in a tabular form.
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(ii) 500 & ¥ st =a @y ana faeal @ witwa fe |

158 164 | 179 | 374 | 169 713 | 652 | 555 | 723 401

176 | 176 | 274 | 238 | 632 541 732 | 755 | 723 508

189 | 334 | 256 | 369 | 566 315 | 473 | 623 | 645 749

346 | 277 | 391 455 | 563 742 | 652 | 542 | 386 322

285 | 371 | 247 | 325 | 3535 793 | 395 | 665 | 365 528

274 | 256 | 262 | 463 | 543 422 | 465 | 523 | 399 355
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3. Calculate the median and mode for the following series showing family consumption
of milk (litres).

Consumption of Milk | 5-10| 10-15]15-20|20-25 [ 25-30 | 30-35|35-40|40-45{45-50
(litres)

Number of families 7 8 15 1 23 12 21 25 | 31 24

OR

Following are the marks of two students for their 10 tests out of 100. Find'
whose performance is more consistent.

Student A | S8 | 61 | 69 | 98 | 85 64 65 65 87 | 82

“StudentB | 69 | 70 | 73 | 67 | 58 | 90 | 45 | 45 | 62 | 55
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qu @ @ad (dx) | 5-10] 10-15]15-20{20-25|25-30 [30-35|35-40[40-45 45-50|

TRl & wEm 7 8 15 | 23 12 21 | 25 | 31 | 24

Jdaarn

frfafiaa 2t Raffa & 10 99en @ 100 A A W I R M 1 T A fow Rard
D weu ¥ afte anfa 2

et A s8{ 61 69| 98 | 85 64 | 65 65 87 | 82

faarit B 69 | 70| 73 | 67 | 58 90 | 45 45 62 | 55

4. Calculate Pearson’s coefficient of correlation for the given data.

X 10 12 18 4 3 10 5 6 12 | 16

1Y 82 88 96 68 | 78 | 80 | 75 | 42 | 83 | B4

OR

Calculate the rank correlation coefficient between X and Y using the table given

below :

X } 231 | 128 | 512 | 125 | 142| 532 | 411 | 311 | 215 | 420

Y 122 | 202 | 252 | 141 | 271 | 628 | 523 | 435 | 315 | 611

ﬁqmﬁﬁmmmmmmn_

X lwli2lis ] al-3(10|5]6] 12|16

y | 82 |8 |96 | 68| 78|80 (75|42 83| 84
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X 231 | 128 | 512 | 125 | 142532 | 411 | 311 | 215 | 420

vy 122 [ 202 | 252 | 141 | 271 | 628 | 523 | 435 | 315 | 611
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5. The following table shows the ages and monthly incomes in rupees for 10 persons.
(i) Obtain the regression equation for income on age.

(ii) Find the income of a person who is 59 years old.

Ages (years) 21166 |51 |38|45]|35]|26]34]60] 52

Income (000Rs.) | 36 | 73 | 52 | 54 58159 |66| 58| 86 | 63

OR

Calculate mean center of the population distribution for the following blocks and
plot it on the graph.

Blocks X- coordinate Y- coordinate Population (“000)
A 0.6 1.2 535
B 2.6 2.0 563
C 3.5 3.2 256
D 6.1 24 856
E 2.5 3.1 635
F 3.6 5.1 612
G 4.5 3.5 458
H 6.2 3.4 632

Prfarfes w10 S & oy @ W o[ (T ¥) T R
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g () 21 | 66|51 38| 45]35]|26] 3460 ) 52
@ (000 Rs.) 36 | 73|52 | 54| 58|59 |66 58|86 |63
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ESieD X- fAdoes Y- fRdwmes FaEr (‘000)

0.6 1.2 535
B 2.6 2.0 563
C 3.5 3.2 256
D 6.1 2.4 856
E 2.5 3.1 635
F 3.6 5.1 612
G 4.5 3.5 458
H 6.2 3.4 632
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